

$$g(x) = \frac{1}{2}(\tan x + \sqrt{x} \cos x), \quad g'(\frac{\pi}{4}) = \sqrt{x}$$

$$g\left(\frac{\pi}{\epsilon}\right) = \frac{1}{f(r)} \left(1 + \sqrt{r} \cdot \frac{\sqrt{r}}{r} \right)$$

$$\Rightarrow g'(\frac{\pi}{\epsilon}) = f'(r) \cdot \frac{r \tan^2 \sec^2 \gamma - \sqrt{r} \sin \gamma}{r \chi(1)(r) - \sqrt{r} \cdot \frac{\sqrt{r}}{r}} \rightarrow g'(\frac{\pi}{\epsilon}) = f'(r) \cdot r$$

$$f(x) = \frac{1 + \cos^r x}{1 - \cos^r x} \Rightarrow f'(x) = \frac{(-r \cos^r x \cdot \sin x)(1 - \cos^r x) - (1 + \cos^r x)(r \cos^r x \sin x)}{(1 - \cos^r x)^2}$$

$$g(x) = \frac{r}{r - \cos x} \Rightarrow g(x) = r(r - \cos x)^{-1} \Rightarrow g'(x) = r(-1)(r - \cos x)^{-2} \cdot \sin x$$

$$\text{حاصل غایب} = \frac{3\sqrt{3}}{2} - \sqrt{3} = \frac{\sqrt{3}}{2}$$

این ۲ مقدار، مقید اند پس $2F'(\frac{3}{\epsilon}) = 2\sqrt{4} \leftarrow$

$$\Rightarrow \left((x-2)\sqrt{ax} \right)' \rightarrow \cancel{1} \sqrt{ax} + (x-2) \cdot \frac{a}{2\sqrt{ax}}$$

$$\Rightarrow \frac{\lambda \alpha x + K \alpha x - Y_a}{Y \sqrt{\alpha x}} = \sqrt{q} \Rightarrow Y_a \left(\frac{K}{x} - 1 \right) = Y \sqrt{q \alpha \cdot \frac{r}{K}} \Rightarrow Y q \alpha r = \frac{\lambda Y_a}{Y} \Rightarrow q = \frac{1}{Y}$$

$$y = -ax + r \rightarrow y' = -a, \quad f(\varepsilon) = -f_a + r$$

$$\left. \begin{aligned} f'(x) + f(x) &= -1 \\ -f(x) - a &= -1 \end{aligned} \right\} \Rightarrow a = \frac{1}{\Delta}, \quad f'(x) = \frac{-1}{\Delta}$$

$$\left. \begin{aligned} v y &= x + \omega \Rightarrow y = \frac{x + \omega}{v} \\ y &= \frac{ax - 1}{v_x + 1} \end{aligned} \right\} \Rightarrow \frac{x + \omega}{v} = \frac{ax - 1}{v_x + 1} \Rightarrow \begin{aligned} v_x v + v y x + \omega &= v a x - v \\ v_x v + (v y - v a) x + \omega + v &= 0 \end{aligned}$$

15 $\rightarrow$ باقیمانده ضرایب $(x-2)^3 = 14 - 12 = -2$

$$d = \frac{1}{K}$$

$$f(x) = x^3 + ax - b \Rightarrow f'(x) = 3x^2 + a \Rightarrow 0 = 3x^2 + a \Rightarrow a = -12$$

$$x^3 - 12x - b \Rightarrow x^2 - 12x - b = 0 \Rightarrow b = -14$$

$$b - a = -14 - (-12) = -2$$

$$f(x) = \sin^n(x^m) \sim x^{mn} \quad f'(x) \sim mn x^{mn-1} \Rightarrow f(x) \cdot f'(x) = \sin^n(x^m) \cdot mn x^{mn-1}$$

$$(1 - \cos x)^m \sim \left(\frac{x^2}{2}\right)^m = \frac{x^{2m}}{2^m} \Rightarrow \frac{2^m x^{2m-1}}{2^m} = 2^m x^{2m-1-2m} = 2^m x^{-1}$$

$$\Rightarrow 2^m = 2^{n-1} \Rightarrow 2^m = 2^{n-1} \Rightarrow m = n-1$$

$$2^m + n = 9 \Rightarrow 2^{n-1} + n = 9 \Rightarrow n = 2, m = 1$$

$$f(x) = \frac{\sqrt{x+1}}{\sqrt{x-1}} \Rightarrow f^{-1}(x) \Rightarrow y\sqrt{x}-y = \sqrt{x+1} \Rightarrow y\sqrt{x}-\sqrt{x} = y+1$$

$$\Rightarrow \sqrt{x}(y-1) = y+1 \Rightarrow \sqrt{x} = \frac{y+1}{y-1}$$

$$y \cdot x \cdot \left(\frac{-y}{1}\right)^{x-1} \leftarrow y \left(\frac{x+1}{x-1}\right) \left(\frac{-y}{(x-1)^2}\right) \xrightarrow{\text{differentiate}} f^{-1}(x) = \left(\frac{x+1}{x-1}\right)^y$$

$$\Rightarrow \text{answer} = -12$$

$$\frac{f(b) - f(a)}{b - a} = \frac{1 + \ln(a-1)}{0 - (-1)} = -11 \Rightarrow \ln(a-1) = -12$$

$$a-1 = \frac{-1}{e^{12}} \Rightarrow a = \frac{-1}{e^{12}}$$

$$y = \sin^x x - \cos^x x = (\sin^x x + \cos^x x) (\sin^x x - \cos^x x)$$

$$y_1 \Rightarrow \frac{f(\frac{\pi}{4}) - f(\frac{\pi}{2})}{\frac{\pi}{4} - \frac{\pi}{2}} = \frac{-1}{-\frac{\pi}{4}} = \frac{4}{\pi}$$

$$y_2 \Rightarrow \frac{f(\frac{\pi}{4}) - f(\frac{\pi}{6})}{\frac{\pi}{4} - \frac{\pi}{6}} = \frac{1}{\frac{\pi}{12}} = \frac{12}{\pi}$$

$$\Rightarrow \text{answer} = \frac{\frac{4}{\pi}}{\frac{12}{\pi}} = \frac{1}{3}$$